Section 5.

%R S R

5.1 T BEE2DHIVEE




N

XZDEAS S
=4 x 1026 J/s (= W) = 4 x 1033 erg/s

(C) JAXA/ISAS

HBED—FEDHEE] =2x1019) =2 x 102 erg
HADH107 &£ = 1000 FEM T TES TRILF—2 1 THRES
AKEIIGTECARBRICAZIWVWD ? ?
=>YBZzFE->TEHELLS




ANEIEZETEHS < ES< DI ?
A. L2 R

X

https://www.britannica.com/science/chemical-reaction

(5l) c+ 0, -> CO,

FRFPHFH< 22K
= [RF&ZIEZED S5EL

B. [ RF &I

s 8

() H+ H+ H+ H->He
RF&EHZDH D
=fHHLWITEDNTES

ANEEZ 910084
EMEDTENTEDS




EORTIEIEERIERIDDEE TS5 L LY

e

iy XA
AR




2Rl
2 —0O 2 FEEE E ~ (21Z2€2)/r ~ 106 eV (MeV)

HADHBIMIZ T RILF—E ~ KT ~ 103 eV (keV) <= 107 K
=> MV RILFIER

E=TNF

BEHINSWVFEZRIED
2 DI LY

~10-13 cm (1 fm)
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